Using ‘cious’ with a Long /shuhs/ Sound

This week, we are looking at words with -cious endings.
Get a partner to play matching pairs.

Instructions

1. Cut out the cards and randomly place them face down on the table.

2. Take it in turns to choose two cards. Did you match a -cious word with the correct
definition? If you did, keep the cards.

3. Whoever has collected the most cards at the end of the game is the winner!

_____________________________________________________________________________________________________________

: ! Defiacion: i Definition: awake E
i SUSPLCLOUS | deliberately cruel or ! ; i gracitous
: : : : and alert ; !
: : violent : : |
i Definition: having a ! ; Definitian: Definition: kind |

i distrust of someone |  CONSCLOUS and pleasant to

horrifyingly wicked |

i orsomething | everyone.
. . . . Definition: of great Definition: highly . .
i malicious value + pleasant to taste VACLOMS i
F Tn— 3 AR e | A5
Ly efinition: roomy; { - g4 cious delicious atrocious |
i having ample space ! ;
: Definition: fierce Reguiliamantanding . :
i ferocious el it i todosomebody :  precious

: ; harm

_____________________________________________________________________________________________________________

* 3 .
| Challenge Task )

Are there any words that could potentially be matched to more than one definition?

Spelling | Year 51 Term 1A | Week |
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Converting Between Different Units of Measurement

1. Complete this table. The first one has been done for you.

Millilitres (ml) Centilitres (cl) Litres (1)
350 35 0.35
1300
2.6
82
680

Draw lines to match these measurements. One has been done for you.

170cm
40mm
860mm
250cm
8.6m
17mm
4mm

0.86m
2.5m
1.7cm
0.4cm
1.7m
860cm
0.04m

2. Use <, = or > to complete the following sentences:

O.46kg [ | 46g
0.38kg [ | 379g

6g |:|

0.006kg

1001g [ | kg

3. Complete the number sentences below:

360g = kg
0.74kg = g
3078g = kg

830cm = m
2.6m = cm
180cm = m

4.21 =
760ml =

0.9l =

36g [ ] 3850k

45609 || 4.56kg

ml 3400m = km
L 0.23km = m
ml 4bm = km

W**
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Converting Between Different Units of Measurement

1. Complete this table. The first one has been done for you.

Millilitres (ml) Litres (1)
650 0.65
2300
4.37
9.2
780

2. Draw lines to match these measurements. One has been done for you.

170cm 800cm
40cm 2.5m
8m 1700cm
250cm 0.4m
4m 1.7m
17m 400cm

3. Use <, = or > to complete the following sentences:

8400g [ ] 8.4kg 1100g [ ] 1kg 7259 [ ] 7.25kg
6.6kg |:]6609 3.7kg D 379¢ 2890g [:l 2.89kg

4. Complete the number sentences below:

250g = kg 390cm = m 2.6l = ml
0.46kg = g 56m = cm 350ml = |
1240g = kg 980cm = m 0.8l = ml

w * visit twinkl.com
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2D Shape Translations

I can describe the translation of a 2D shape on a four-quadrant co-ordinate grid.

Describe the positions and translations of the 2D shapes.

1Y 1Y
o | 1 ¢ f = f
T : 4 ;
: 1 5 |
= l f - !
G 1 t | o |
L [FRERT T =5
i 1
a1 E -X 1 \ ] -X
5-4-3-2-1,] 123435 N\& -3 - 2 34 5
| \ l o) I
=i 2 2 2 i
—_ 3 b A 2 \ 3 E
A N, |
i 1B F1. el
5l 1% ; Eod g
Starting co-ordinates: Starting co-ordinates:
Translation: Translation:
Finishing co-ordinates: Finishing co-ordinates:
] 5 : . i 5 Y
] L] Any
1 >-3f— i 3
-1 | 2 |
= 7 I “ i
1 ' % 1 ks | |
ol X |
L= ] ]
-b-4-3-2-1.] 1 2 3 4 5 -9 -4 - 2 3 4 %
i ] |
|
2K 2 i
3 : :
‘ wdj "' 2 |
|' i lgl | 1.
= |
Starting co-ordinates: Starting co-ordinates:
Translation: Translation:
Finishing co-ordinates: Finishing co-ordinates:

* * visit twinkl.com w
DuT:J:;::UZ



2D Shape Translations

Plot the following co-ordinates and following the translations to reveal a new shape.

Plot these co-ordinates to reveal a shape:
(0,3), (2.1), (2,3). (0,3)

BN W ;g S

746 5-6-3-2-1 012345687
Translate the shape left 6, down 1.

What are the co-ordinates of the
new shape?

Plot these co-ordinates to reveal a shape:
(‘2, 3); ("111 5): (‘31 5)

2ol ST SR S B«

il B3 -2 <1 0 1 2 3 %5 6 7
Translate the shape right 4, down 2.

What are co-ordinates of the
new shape?

Plot these co-ordinates to reveal a shape:
(1,3); (3.1} [1,3)

BN W B U O N

(-7-6 -5-4-3-2-101 2 3 456 7
Translate the shape left 2, up 2.

What are the co-ordinates of the
new shape?

Plot these co-ordinates to reveal a shape:
(3, 3), (4,4), (3,5), (2, 4)

BN W B WO

==l < el <2 =] 0 01 2 3 4 5 6 F
Translate the shape left 3, down 3.

What are the co-ordinates of the
new shape?

visit twinkl.com w
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2D Shape Translations

Plot the following co-ordinates and following the translations to reveal a new shape.

Plot these co-ordinates to reveal a
shape: (-3,-1), (-3,-2), (1] ~1), {1, ~2)

y

o TS ST | S TRY TR« T - N O 6 S T - S () |

|
{0y

Translate the shape right 3, up 3.

What are the co-ordinates of the
new shape?

Plot these co-ordinates to reveal a
shape: (2, 1), (4, 1), (0, -3), (0, -1)

Y

SIS C ST PO« » O SN o Q¥ ST - Uy |

|
(U]

Translate the shape left 4, up 1.

What are the co-ordinates of the
new shape?

Plot these co-ordinates to reveal a
shape: (-2, 4), (-4, -3), (0, -3)

Y

MR O B RW R W!m

i
1

Translate the shape right 4, down 2.

What are the co-ordinates of the
new shape?

Plot these co-ordinates to reveal
g shape; (2,1), (3,1); (3.3); 4,3);
(4,4), (2,4) y

|

1

1
ar
X
e
1
AL
[}
-U
1
Jemk

o~ WM R O NW
| -
k‘-
e
Lﬁ

Translate the shape left 3, down 4.

What are the co-ordinates of the
new shape?

& ++
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2D Shape Translations

I can describe the translation of a 2D shape on a four-quadrant co-ordinate grid.

Describe the positions and translations of the 2D shapes.

10 Y i 1 10. 4
o 1_ ¥ g
2 l | 2
M 2
al i i 4
] i TR " R | 1
7\
il e 2
I z j
\ ] ‘
x 1 : = X
10 -b-5-7-5-5-h-3.3.1 45 6 7 8910 10 -5 -8 -7 -b-5-h 520 | N ERER
i il
3 z 1 3
3 5 E s
' ry 1 -
! 2 7/ N :
[+] \ ! K=}
B / 2 o c. 5
0] | I 40 el
Starting co-ordinates: Starting co-ordinates:
Translation: Translation:
Finishing co-ordinates: Finishing co-ordinates:
10)Y 10)Y
5 5 1]
s o T
- . i
: : L
\ s
1 R e e A o e v s o (RO | (| 7 1 4
s I Hs
: 5 1 \ el
i ¥ 3
| = X = x
e LN T EEEM 4 5 ¢ 8 9 10 -10 -8 -8 -7 -6 -5 -k -3 = 7 45 67 8910
2 5 = 1
: \ I
s | _q 2.4
o ‘ \ |
, 3 :
i i =10 10
Starting co-ordinates: Starting co-ordinates:
Translation: Translation:
Finishing co-ordinates: Finishing co-ordinates:
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2D Shape Translations
Plot the following co-ordinates and following the translations to reveal a new shape.

Plot these co-ordinates to reveal
a shape: (-8, -5), (-4, -5), (-4, -3),
(-6, -3), (-6, 3), (-8, 3)

y

N
o 2

=
o
o
L
]
o
o
£
o

Do ddibdm Ll L L el e i Ol )

o

=

Translate the shape right 3, down 2.

What are the co-ordinates of the
new shape?

-1Q -8 -B -7 -6 -5 -4 -3 -2 -

Plot these co-ordinates to reveal
a shape: (-2, -6), (-5, -2), (-8,
-6)1 (_5: "10)

y

n

D 000 e WD e N 0D
- T

i
=

Translate the shape right 6, up-9.

What are the co-ordinates of the
new shape?

Plot these co-ordinates to reveal
a shape: (5,3), (8,3), (9,5), (8,7),
(5,7), (4,5)

Y

L
=)

-1Q P -8 -7 -6 -5 -k -3 -2 -

e

P P H e tn sl S b o

il
Fr

Translate the shape left 9, down 5.

What are the co-ordinates of the
new shape?

-10 -0 -8 -7 -6 -5 - -5 -3 -

Plot these co-ordinates to reveal
a shape: (-3, -1), (-5, 2), (-7, 5),
(-3, 5), (-7, -1)

y

s

B b Ha J_g.:_.lrrirq_gan:

D {0 g0 4 & tn P

o

Translate the shape left 3, up 5.

What are the co-ordinates of the
new shape?

W * e A
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